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QUESTION 1

A company has deployed a new application. Users are complaining they cannot connect. The

administrator suspects there is an issue with the Distributed Firewall (DFW).

What three steps can be taken to troubleshoot the DFW? (Choose three.)

A. The administrator should confirm that SLOT 2, which is used by the DFW, is configured under the vNICs of the VMs.

B. The administrator should configure vRealize Log Insight using the Insight agent as the type and review the DFW rule
logs in vRealize Log Insight.

C. The administrator should confirm if the DFW rule is set to log, and then look on the hypervisor where the VMs reside
and look at logs at /var/log/dfwpktlogs.log.

D. The administrator should verify firewall rules exist to permit traffic and verify the hit counters are increasing.

E. The administrator should configure vRealize Log Insight using syslog as the type and review the DFW rule logs in
vRealize Log Insight.

Correct Answer: CDE

QUESTION 2

When creating a firewall rule in NSX-T Data Center, what are the three valid options in the action column? (Choose
three.)

A. Drop
B. Log
C. Allow
D. Isolate
E. Reject

Correct Answer: ACE

QUESTION 3

Considering the NSX Manager Node, what is VMware\\'s recommended size for a typical production deployment?
A. small appliance for deployments with up to 64 hosts

B. medium appliance for deployments with up to 64 hosts

C. medium appliance for deployments with up to 128 hosts

D. small appliance for deployments with up to 32 hosts

Latest 2V0-81.20 Dumps | 2V0-81.20 PDF Dumps | 2V0-81.20 Practice Test 2/3


https://www.geekcert.com/2v0-81-20.html
https://www.geekcert.com/2v0-81-20.html
https://www.geekcert.com/2v0-81-20.html

VCE & PDF https://lwww.geekcert.com/2v0-81-20.html
2024 Latest geekcert 2V0-81.20 PDF and VCE dumps Download

GeekCert.com

Correct Answer: B

QUESTION 4

In a Workspace ONE environment, what is the maximum number of days a Windows Feature Update (Windows 10
1703 and above) can be deferred?

A7
B. 90
C. 365
D. 30

Correct Answer: C

QUESTION 5

Which three statements are correct for Active Directory integration with Identity Firewalls (IDFW) in an NSX-T Data
Center deployment? (Choose three.)

A. The IDFW can be used on both physical and virtual servers as long as supported operating system is installed.
B. The Thin Agent must be enabled in VMWare tools as it is not enabled by default.

C. The IDFW can be used for Virtual Desktops (VDI) or Remote desktop sessions (RDSH support).

D. Identity-based groups can be used as the source or destination in DFW rules.

E. User identity information is provided by the NSX Guest Introspection Thin Agent.

Correct Answer: CDE
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